Answers – Valuation of Non-Market Goods

1) Contingent Valuation – This is simply asking people what their values for goods or services are.  (Could be called stated preference.)

An example of this could be 

How much better off would you be if it took you 10 minutes less to get to work each day?

This does not conform to most of the guidelines

Recommendations:

1. Sample:  Statistician recommend size and type to ensure significance of results. No
2. Non-responses
High rate makes results unreliable.  This is unlikely here
3. Interviews
Face to face are best, must test effect of interviewer. 
4. Reporting
Data and procedure used must be available to all.

5. Questionnaire design:  Piloted + pre-tested  
6. Cross-tabulations:
Cross checks to assess interpretation of data

7. Elicitation procedure:
WTP better than WTA, Yes/No Q’s This is WTA and not Yes/no
8. Accurate Description of issue 

9. Why is the commute shorter – is it more or less pleasant? 
10. Expenditure implications (Is my rent going to go up are my taxes going to go up?)
2) You would want to choose to houses that are identical apart from the prevalence of aircraft noise – this is very difficult to do.

3) UK gov’t values a life at £12m it values one year of healthy life at £30,000.  Individuals however, may have different preferences.  
Need to choose to similar careers that have different chances of death – e.g. social worker versus policeman in a given city.  Take a year’s incomes (including in this pension and other benefits such as vacation length) (net out anoy costs of persuing these careers such a s training hours commuting etc) and put a net value on a year of these careers.   Once all other differences have been accounted for the remaining income difference ought to be related to the danger levels of these two jobs.  AS the individual is making the choice between these two careers this ought to reflect the value they place on their life.  How this is reflects their family’s value on their life is unclear.

